









































Using the partitioned
column method

54 + 35



+

50 + 4
30 + 5

80 + 9 =89












Using the compact
column method

743 + 87



+

/743
8 7/

10

120
/00

830

(3+7)
(40 + 80)
(700+0)















Using column methods
£34.19 + £2.87

576.902 + 54.63




£f34.19
+f£ 2.87
£f37.06

576.902
+ 54.63

631.532



Leave

Subtract
Minus |
— Less
Take D

away  Difference

























Using expanded column
method

248 - 92




248 - 92

100 1
200+40+ 8

- 90 + 2
100+50+ 6 =156













Using compact column
method

354.07-163.6



) 3
315 4.10 7
-1 6 3.6
190.47




\

mufhph(‘”lc’n






















Draw an array to show 5 x 3




5x3

5, 3times “‘
0000
0000

3 lots of 5









Use the grid method to solve
23 x5




20 3

100 + 15 = 115












Use both the grid method
and the expanded column
method to solve :

467 x 3



X 1400 60 /
3 (1200 +180 + 21 =1401

4 6 7
X 3

2 1
8 0
0O O
0 1

= =
N -


















Use column multiplication to
solve :

6324 x 47




6 324

4 7

0 O
O~ O
AN~ O —
<t~ &N

I LN~

2 9 72 228



























Use grouping to solve:

]2 +3




2 4

3)7 2

-6 0 (20 x 3)

1 2
2x3=6 -1 2 (4x3)

10 x 3 =30 0
20 x 3 =60



















Use short division to solve:

7436+ 5



14 8 7rl

5)7%4°3 %












Use formal long division to
calculate :

4237 + 52




1637
-1 040 (20x52)
2 x 52 =104 > 397
Joxs2-520 —=220 (10 x 52)
50 x 52 = 2600 ] 7
20x52=1040 - 52 (1x52)
2 5



